Before you start: ®
JustMaths

Have a go at these:

a) 8.26 x 10 b) 15.31 x 100 ¢) 1.253 x 1000 d) 5.03 x 10

5. Dividing by 10, 100 and 1000 (Part 1)
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Now have a go ...
1.
4.
7.

68
7.35
9
1.09
7.543
25

1.
4.
7.

60 + 10
600 + 10
6600 + 10

. 700 + 100
. 1700 + 100
. 6700 + 100

. 12000 + 1000
. 12900 + 1000
. 52940 <+ 1000

54 + 10

6341 + 100

8127 + 10

69.26

7.431

6,800

52.94
10.9
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2.
5.

8. 7543 + 1000

17
1.299
1.73
6
85.6
7

. 50 + 10
. 250 =+ 10
. 2600 + 10

. 900 + 100
. 9,900 + 100
. 10000 + 100

. 82000 + 1000
. 85600 + 1000
. 334900 =+ 1000

173 + 100

7431 + 1000

2.222
660
1.2
99
63.41

60 \%54

3.
6.
9.

3.
6.

(if the answer isn't in the answer box ... Try again!)

80 + 10

680 + 10

68,000 =+ 10
. 1000 + 100
. 1900 + 100
. 6926 + 100
. 1200 + 1000
. 1299 + 1000
. 2222 + 1000

/35 + 100

1090 + 100

9. 1090 + 1000

ANSWERS
100 260
67 82

8 12.9

334.9 812.7
12 19

10
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